DM-F FLUSH MAKTRAX MOUNTING KIT
INSTRUGTIONS

Thank you for purchasing our DM-F Flush Mounting Kit

This kit is designed to mount your MAXTRAX Mkll or XTREME recovery tracks to your
DASH Roof Rack as well as other brands.

All supplied components are made from durable 300-series stainless steel, and the
brackets themselves from 5mm aluminium plate to ensure the longevity of the product.

If you have any questions regarding your install that aren’t addressed in this manual,
please contact us at Sales@dashoffroad.com.au

Kit Contents:

1) 2x DM-F Flush Mount Brackets
2) 4x M8 Button Head Screws
3) 4x M8 Spring Washer

4) 4x M8 Flat Washer o
5) 4x M8 Channel Nuts

DASHOffroad.com.au Page 1|2


mailto:Sales@dashoffroad.com.au

DM-F FLUSH MAKTRAX MOUNTING KIT
INSTRUGTIONS

OFFROAD =

Installation Instructions:
Note: Items in Red are from MAXTRAX Mkll or XTREME Pin Kit (Not Included)

1) Fix MAXTRAX Mounting Pins, M10 Flat Washers, and M10 Nyloc Nuts to both DM-F
Brackets (1)
— Ensure the pins are oriented as per Diagram A

NOTES: ¢ Follow MAXTRAX instructions on using the Nyloc Nuts, tightening firmly to avoid
pins turning

* Some installations may require excess Pin thread to be trimmed - if necessary do so
now

2) Locate Channel Nuts (5) on your platform in the desired orientation, as per Diagram A

A- Longitudinal
B- Lateral
C/D - Offset Longitudinal - Use these to mount brackets off-centre to free up space on adjacent planks

3) Place assembled brackets on your platform 890mm apart, securing with M8 Screws (2),
Spring Washers (3), and Flat Washers (4). Use your MAXTRAX to check pin positions
before fully tightening

NOTES: ¢ All four fasteners (two per bracket) and accompanying washers must be used and
firmly tightened when installing

4) Mount either 2 or 4 of your MAXTRAX MkIlI or XTREME recovery tracks to the pins, turning
each pin top 90 degrees to secure

Diagram A o
(&)

DASHOffroad.com.au Page 2|2



